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Financial Accounting I
(BCM - 02)

(The figures in the margin indicate full marks for the questions)

DLT sation: 20 minutes Marks - 20

PART A- Objective Type

(Figure in the margin indicates Full marks of the question)

—hoose the correct option from the following: 1x20=20

i) Revenue Principle states that income should be measured in the period in which it is

z;) earned b) gained c) to be earned in future d) none.

ii)” Method of valuing assets should not be changed. This principle is known as

a) Cost principle b) Matching principle c¢) Consistency d) none.
iii) Debtors ledger is also called:

a) sold ledger b)sales ledger c) both d) none.
iv) Debtors ledger adjustment account is opened in ledger.

a)general b)sales c¢)both d)none.
v) General ledger adjustment account is opened in both account.

“™ a)debtors b)creditors c¢)both d)none

vi) Trade debtors means a person from whom goods in which trader deals in are sold on

a)credit b)cash c)both d) none
vii) In sectional balancing system only ledger is made self-balancing

a)general b) debtors c) creditors d)none
viii) Under hire purchase system, the hire purchaser acquires the immediate of the goods on

signing the agreement.
a) ownership b) possession c) both d) none

ix) The amount to be paid by the buyer under hire purchase system is called:

a) Hire purchase price b) cash price ¢) cheque price d) none.



x) The hire purchaser can return the goods before the-------- is paid.

a) iast installment b) down payment ¢) cash price d) none
xi) In case of installment system, total interest payable by the buyer is debitedto  account.

a) interest b)interest suspense ¢) vendor d)none
xii) In hire purchase system,the buyer charges depreciation onthe  price.

a) hire purchase b) cash ¢) both d) none

xiii) The buyers position till the last installment is paid under hire purchase system is that of
a)owner b)bailee c)both d) none
xiv) Royalty is calculated on the basis of:
a) output b)sales c)both d)none

xv) Shortworking is the excess of minimum rent over:

a)actual royalty b)dead rent c¢)both d)none
xvi) Royalty payable is debited by lessee to account.

a)royalty b)landlord c)both d) none
xvii) From the point of view of lessee, royalty accountis __ account.

a)revenue b)expense c)both d)none

xviii) When minimum rent is more than royalty the amount payable to landlord is:

a)minimum rent b)actual royalty c)both d)none
xix) When short working is recouped, debit is givento  account

a)landlords b)shortworking c)profit&loss d)none
xx) There are  accounting assumptions.

a)two b)three c)four d)five.
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